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118.
DETERMINING DEPRECIATION IN YEAR OF ACQUISITION AND DISPOSAL

For depreciable assets (except for buildings, both old and new, acquired and put into use for patient care in cost reporting periods beginning on or after April 1, 1983), the following policy applies:  the methods shown below are acceptable for computing first-and last-year depreciation.  Any other method must be approved by the intermediary with the request made by the provider before the end of the first month of the cost reporting period to which the other method is intended to apply.  Whatever method is adopted, it is to be applied to assets subsequently acquired.  However, providers are allowed a one-time opportunity under the program to change their method of computing first-and last-year depreciation.  Any change in method would apply to all assets acquired subsequent to the change.  A provider cannot elect a change for assets of only a certain type or class.  The provider must notify the intermediary of the one-time change before the end of the first month of the cost reporting period to which the change is intended to apply.

A.
Time Lag Alternatives.--These result in delayed recording of depreciation after the actual date of acquisition.  However, they provide the convenience of updating detailed, supportive accounting records at the end of certain extended time intervals.

l.
Up to Six Months Time Lag.--Assets acquired during the first six months of the reporting year are subject to depreciation beginning with the first day of the seventh month of the reporting year.

Assets acquired during the second six months of the reporting year are subject to depreciation beginning with the first day of the subsequent reporting year.

Depreciation on disposal is based on the portion of the year in which the asset is disposed. If the asset is disposed of in the first half of the reporting year, one-half year's depreciation is taken.  If the asset is disposed of in the second half of the year, a full year's depreciation is taken.

2.
Up to One Year Time Lag.--Assets acquired during the reporting year become effective for depreciation on the first day of the subsequent reporting year.  In the year of disposal a full year's depreciation is taken.

NOTE:
A variation of the above methods by the use of a quarterly or monthly basis for determining depreciation in the first year and the year of disposal would be acceptable.

B.
Half Year Depreciation.--One-half year depreciation is taken in the year of acquisition regardless of acquisition date and one-half year depreciation is taken on disposition regardless of disposition date.

C.
Actual Time Depreciation.--Depreciation for the first reporting period is based on the length of time from the date of acquisition to the end of the reporting year. Depreciation on disposal is based on the length of time from the beginning of the reporting year in which the asset was disposed to the date of disposal.
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Buildings, both old and new, acquired and put into use for patient care in cost reporting periods beginning on or after April 1, 1983, must be depreciated on the actual time basis. For buildings acquired and put into use for patient care in cost reporting periods beginning prior to this date, any of the above methods are acceptable.  New providers participating in the Medicare program after March 31, 1982, are not subject to the Actual Time Depreciation method for buildings acquired and put into use for patient care prior to April 1, 1983.

120.
CHANGE OF DEPRECIATION METHOD

Prior to August 1970, a provider could have changed from the straight-line method to an accelerated method, or vice versa, on a prospective basis upon advance approval from the intermediary with the request being made before the end of the first month of the prospective reporting period.  Only one such change with respect to a particular asset could have been made by a provider.

After July 1970, a provider using an accelerated method of depreciation or the optional method may change only to the straight-line method.  Such a change may be made without intermediary approval, and the basis for depreciation is the undepreciated cost reduced by the salvage value.  Depreciation after a change is based on the remaining years of useful life.  Once the straight-line method of depreciation is selected for a particular asset, an accelerated method may not be established for that asset.

122.
CHANGING ESTIMATED USEFUL LIFE

A change in the estimated useful life may be made when clear and convincing evidence justifies a redetermination of the useful life used by the provider.  Such a change must be approved by the intermediary in writing, and the factors cited in §104.17 are applicable in making such redeterminations of useful life.  If the request is approved, the change is effective with the reporting period immediately following the period in which the provider's request is submitted for approval. Where the estimated useful life of an asset expires during the provider's participation in the program, no further redeterminations of the asset's useful life may occur and no further depreciation may be claimed by the provider.

A.
Assets Acquired After Provider's Entrance into Program.--When the estimate of the useful life of an asset is changed, the undepreciated balance as of the date of change is depreciated over the new remaining useful life under the straight-line and sum-of-the-years' digits methods.  For an asset depreciated under the declining-balance method, the undepreciated balance as of the date of change is depreciated by applying a percentage based on the entire revised useful life of the asset.  The following examples illustrate how the new annual depreciation is computed under the accelerated methods of depreciation.

EXAMPLE #1--Declining balance method.

An asset costing $10,000 and having an estimated useful life of 10 years has been depreciated for 6 years at the declining-balance rate of 20%.  The depreciation accumulated during the 6 years is $7,378.60, and the undepreciated balance is $2,621.40.

At the end of the 6th year, it is determined that the remaining useful life is 8 years. Accordingly, future depreciation must be computed as though the estimate of useful life was originally determined to be 14 years.  The applicable depreciation rate would be 14-
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2/7% (twice straight-line rate of 7-1/7%).  This rate would be applied to the undepreciated balance.  Thus, for the 7th year, the depreciation would be 14-2/7% times $2,621.40--or--$374.49.

EXAMPLE #2--Sum-of-the-years' digits method.

An asset having an estimated useful life of 10 years is purchased for $10,500.  Salvage value is estimated at $500.  After 5 years, the accumulated depreciation under the sum-of-the-years' digits method amounts to $7,272.70; the undepreciated balance of the cost is $3,227.30.  At the beginning of the 6th year, it is determined that the asset has 9 years more of useful life.

Depreciation for the 6th year should be computed as though the 6th year were the first year of life on an asset estimated to have a useful life of 9 years.  Accordingly, the depreciation for the 6th year (or first year under the new estimate) would be computed as follows:

Basis for depreciation:

Unrecovered cost





$3,227.30

Less:  Salvage Value






500.00
Basis for depreciation




$2,727.30
Sum-of-the-years' digits (l, 2, 3, etc....9) =



45

Depreciation = 9/45 X $2,727.30 =




$ 545.46
B.
Assets Acquired Before Provider's Entrance into Program.--A change in the estimated useful life of an asset that was acquired before the provider's entrance into the program may be made when clear and convincing evidence justifies a redetermination of the useful life used by the provider.  As with assets acquired after the provider's entrance into the program, the undepreciated balance as of the date of change is depreciated over the new remaining useful life of the asset.  Where a change in the estimate of the useful life of an asset that was acquired before the provider's entrance into the program occurs in the provider's first year of participation in the program, it will be necessary to correct prior years' depreciation for the periods before entrance into the program.  If a change in useful life of an asset acquired before a provider's entrance into the program is made after the first year of the provider's entrance into the program, prior years' depreciation is not changed (corrected).  The following example illustrates how the correction is computed.


EXAMPLE #3--

Facts:

Asset acquired 3 years before entrance into program:

Historical cost of asset 
$30,500

Estimated remaining useful life at entrance into program
7 years

Estimated salvage value

$    500

Straight-line depreciation used under program.

At beginning of first year under program, it is estimated

  that asset has 12 more years of useful life.


Computation of depreciation for the first year under
program
New estimated useful life

15 years

  3 years before program

 12years more of useful life

 15
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Historical cost

$30,500

Depreciation accumulated prior to program

  3 years x ($30,500 - $500 salvage value)

$  6,000
         15 years         

Adjusted historical cost

$24,500

Deduct:  Salvage value

      500
Adjusted basis for depreciation under the program

$24,000

Annual depreciation under the program


 $24,000      
    =    
$2,000
12 years of useful life under program

Depreciation for the first year under the program 

and annually thereafter is
$  2,000
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Adjusted historical cost--------------------$24,500

Deduct:  Salvage value---------------------       500
Adjusted basis for depreciation

under the program----------------------------24,000

Annual depreciation under the program

$24,000                              =
              $ 2,000
Depreciation for the fourth year and annually

  thereafter is--------------------------
$ 2,000
Correction of prior years' depreciation

Original continued useful life--------
l0 years
Historical cost-------------------------
$30,500

Depreciation accumulated prior to program on

  basis of estimate of l0 years' useful life

3 years x ($30,500 - $500)
 


l0 years =  

  9,000
Adjusted historical cost---------------------$2l,500

Deduct:  Salvage value----------------------      500
Adjusted basis for depreciation under the 

program---------------------------------
$2l,000

Depreciation that was taken under the

program in four years

4 years x $2l,000
7 years ----------------------
$l2,000
Corrected depreciation for four years under

 the program based on estimated useful life

 of l5 years ( 4 years x $2,000 annual

 depreciation)---------------------------
   8,000
Reduction of prior years depreciation under

 the program----------------------------
$ 4,000*
124.
OPTIONAL ALLOWANCE FOR DEPRECIATION BASED ON A PERCENTAGE OF OPERATING COST
For all depreciable assets acquired before January 1, 1966, the provider, at its option, may at the time it enters the program choose an allowance for depreciation based on a percentage of operating costs.  This option is available to any provider, regardless of whether or not the provider has historical cost records of these assets.  However, a provider that has elected to use actual depreciation cannot at a later date switch to the optional allowance.

The operating costs to be used are the lower of the provider's l965 operating costs or the provider's current year's allowable costs.  The percentage to be applied in 5 percent for all reporting periods beginning in the year l966-67 (July l, l966-June 30, l967); 4.5 percent for all reporting periods beginning in the year l967-68 (July l, l967-June 30, l968), with each percentage being uniformly reduced by one-half percent each succeeding year.

The allowance based on operating costs is in addition to regular deprecation on assets acquired after 1965.  However, when the optional
allowance is selected, the combined amount of such allowance on pre-1966 assets and the straight line depreciation on assets acquired after 1967, and the estimated depreciation on a straight-line basis on all rented assets used during the current year may not exceed 6 percent of the provider's adjusted allowable cost for the current year.  In applying this limitation, if the actual depreciation claimed on post-1965 assets is on an accelerated basis, it must be converted to a straight-line basis only for use in computing this limitation.  the actual depreciation claimed on an accelerated basis is properly includable in allowable costs.

124.1
Definitions.--

A.
Operating Costs.--Operating costs are the total costs, related to patient care, incurred by the provider in operating the institution or facility.

B.
1965 Operating Costs.--1965 Operating costs are the provider's operating costs incurred in the provider's fiscal year beginning in the period 8/1/64--7/31/65 without adjustment to Medicare’s principles of reimbursement for provider costs.  When the 1965 operating costs are used as a base for determining the optional allowance for depreciation, such costs must be adjusted to exclude the estimated depreciation on rented depreciable type assets or the rental charge for such assets whichever is lower; and in addition, the 1965 operating cost must not include any actual depreciation, on amount in lieu of specific recognition of other costs, "a plus factor," or return on equity capital.

C.
Allowable Costs.--Allowable costs are those costs included in cost reimbursement under the Medicare principles of reimbursement for provider costs.  When the current year's allowable costs are used as a base for the optional allowance for depreciation, they should be adjusted to exclude (l) any actual depreciation, (2) the lesser or rental charges or estimated depreciation on rented depreciable type assets, (3) allowance in lieu of specific recognition of other costs, and (4) return on equity capital. The exclusion of these four items is only for the purpose of computing the optional allowance for depreciation.  For other purposes, rental charges and excluded items (l), (3), and (4) are recognized in determining allowable costs and for computing the costs of services rendered to the program beneficiaries during the reporting period.

Where a provider files a short-period report, the allowable costs must be converted to a full year's basis (see example 3) only for the purpose of computing the optional allowance.
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124.2
Applicable Percentages.--The percentage to be applied in each reporting year is shown in the following schedule:

Reporting year beginning

After

but
Before
Percentage Allowances

------


              7/1/67

5

6/30/67

              7/1/68

4.5

6/30/68

              7/1/69

4

6/30/69

              7/1/70

3.5

6/30/70
                  7/1/7l

3

6/30/7l

              7/1/72

2.5

6/30/72

              7/1/73

2

6/30/73

              7/1/74

l.5

6/30/74

              7/1/75

l

6/30/75

              7/1/76

2

6/30/76

              7/1/77

0

124.3
Computation of Optional Allowance for Depreciation.--The following illustrates the determination of the optional allowance for depreciation based on operating costs:

EXAMPLE 1

Facts:

The provider keeps its records on a calendar year basis.  The current year's actual allowable cost and the actual operating costs for 1965 do not include any actual depreciation or rentals on depreciable type assets.  The current year's allowable costs has been adjusted to remove any allowance in lieu of specific recognition of other costs and return on equity capital.

Computation


First Reporting Period (1/1/66-l2/31/66)

Adjusted current year’s allowable cost----
$ 1,100,000
Operating cost for l9651-----------------------
$1,000,000
Percent for determining the allowance-----
            5%
Allowance (5% x $1,000,000)--------------
$    50,000
11965 operating cost was used in computing the allowance for depreciation because it was lower than 1964 adjusted allowable cost.


Second Reporting (1/1/67-12/31/67)

Adjusted current year's allowable cost----
$1,200,000
Operating cost for 19651----------- ---------
$1,000,000
Percent for determining the allowance2---
            5%
Allowance (5% x $1,000,000)-------------
$    50,000
11965 operating cost was used in computing the allowance for depreciation because it was lower than 1967 adjusted allowable cost.

2Since the reporting period began during the year 1966-67 (July 1, l966 June 30, 1967) 5 percent is the percentage used.


Third Reporting Period (1/1/68-12/31/68)

Operating cost for 1965-------------------- 
$1,000,000
Current year's adjusted allowable cost1--
$ 900,000
Percent for determining the allowance2--
        4.5%
Allowance (42% x $900,000)------------
$   40,500
1The current year's adjusted allowable cost was used in computing the allowance for depreciation because it was lower than 1965 operating cost.

2Since the reporting period began during the year 1967-68 (July 1, 1967-June 30, 1968) 4.5 percent is the percentage to be used.

EXAMPLE 2

Facts:

The provider keeps its records on a calendar year basis.  The current year actual allowable cost and the 12 actual operating cost for 1965 did not include any actual depreciation, nor return on equity capital.  However, both

12
l965 and the current year's costs have been adjusted to exclude depreciation ($3,000 for l965, $2,000 for the current year) on rented depreciable type assets.  The current year's allowable cost has also been adjusted to remove the allowance in lieu  of specific recognition of other costs and return on equity capital.

Computation

First Reporting Period (1/166-12/31/66)

Adjusted current year's allowable cost-----
$ 1,100,000
Adjusted operating cost for 19651----
$1,000,000
Percent of determining the allowance-
           5%
Allowance (5% x $1,000,000)--------------
$    50,000
Less:
Estimated depreciation for depreciable type assets on which rental of $6,000 is paid in 1966-----------------------------------
$      3,000

Adjusted allowance----------------------
$    47,000
11966 adjusted operating cost was used in computing the allowance for depreciation because it was lower than 1966 adjusted allowable cost.

EXAMPLE 3

Facts:

The provider keeps its records on a calendar year basis.  The provider's first report will be a short period one of six months, July 1, 1966-December 31, 1966.  The current year's actual allowable cost and the actual operating costs for 1965 do not include any actual depreciation or rentals on depreciable type assets.  The current year's allowable cost has been adjusted to remove the allowance in lieu of specific recognition of other costs.

Computation


First Reporting Period (7/1/66--12/31/66)

Adjusted current year’s allowable cost

  (6 months)---------------------------------

$  575,000
Adjusted current year's allowable cost converted

  to a l2-month period (2 x $575,000)-----

$ 1,150,000
Operating Cost for l9651--------------------
$1,000,000
Percent for determining allowance---
            5%
Allowance (5% x $1,000,000)-------------
$    50,000

11965 operating cost was used on computing the allowances for depreciation because it was lower than the adjusted allowable costs covering a 12-month period.

Second Reporting Period (1/1/67--12/31/67)

Adjusted current years allowable cost-----$1,200,000
Adjusted operating cost for 19651---------
$1,000,000
Percent for determining the allowance-----            5%
Allowance (5% x $1,000,000)--------------$    50,000

Less:  Estimated depreciation for depreciable type assets on which a rental

 of $5,000 is paid in 1967------------------------
       1,000
Adjusted allowance-------------------------
$   47,000
11967 adjusted operating cost was used in computing the allowance for depreciation because it was lower than the 1967 affected allowable costs.

124.4  Limitation.—The optional allowance only-not the actual depreciation-is subject to a limitation based on the provider’s total allowable operating cost for the current year.  To determine this limitation, compute the sum of (a)  The actual depreciation 


Less:  Estimated depreciation for depreciable

claimed for period l965 assets computed on a straight-line basis, (b) "the optional allowance based non a percentage of operating costs," and (c) estimated depreciation on depreciable type rented assets used in the current year.  If this sum exceeds 6 percent of the provider's current year's adjusted allowable cost (allowable cost reduced by any depreciation claimed, the estimated depreciation on rented depreciable type assets, allowance in lieu of specific recognition of other costs, and return on equity capital), the optional allowance for depreciation must be reduced by the amount of the excess.  In applying this limitation if the actual depreciation is on an accelerated basis, it must be converted to a straight-line basis only for use in calculating this limitation.

Where the provider files a short-period report, the period's allowable costs, after adjustment to exclude the 4 items mentioned above, must be converted to a full year's basis (see Example 3).  This if the short-period report is for 8 months, the adjusted allowable costs should be increased by 50%; if the sort period is for 9 months, the adjusted allowable cost should be increased by 33 l/3%, etc.  In addition, the actual depreciation computed on a straight-line basis as well as the estimated depreciation on rented depreciable type assets must be converted to a l2-month or full year's basis.

The following illustration demonstrates how the limitation is determined:

EXAMPLE 4

Facts:

The provider keeps its records on a calendar year basis.  For its first report, the provider will use a 6 month's period.  The current year's actual allowable cost and the actual operating cost for l965 have been adjusted to exclude actual depreciation, the estimated depreciation on rented depreciable type assets, allowance in lieu of specific recognition of other costs, and return on equity capital.

Adjusted operating cost for l965----------
$l,000,000

Adjusted allowable operating cost for the last

  6 months of l966--------------------------
$  550,000

In l966, assets were acquired which produced for

  l966 a straight-line depreciation of-----
$     l8,000

Estimated depreciation for the year on rented assets

  used in l966-------------------------------
$      4,000

Estimated annual depreciation on assets rented for

   which an annual rental of $5,000 is paid
$      3,000

Gross optional allowance: 5% of adjusted l965

  operating cost ($l,000,000)1----------------
$   50,000
Computation of the Optional Allowance


First Reporting Period (7/l/66)--l2/3l/66)

Rev. 63

Adjusted allowable costs for the last 6 months

of l966 converted to a l2 month basis

  (2 x $550,000)------------------------------
$l,l00,000

Less:  Estimated depreciation on assets rented
  3,000
Gross Allowance-----------------------------
$   47,000
Rev. 63

Add:  Estimated depreciation for the year on

rented assets used in l966---------------
4,000
Straight-line depreciation on post l965

assets for l2 months----------------------
    l8,000
Total-------------------------------------------
$   69,000
6% x $l,l00,000)-----------------------------
    66,000
Deduction in allowance----------------------
$    3,000
Gross Allowance------------------------------
$  47,000
Less:  Reduction for excess of 6% limitation
$3,000
Net optional allowance for the year---------
$  44,000
Net optional allowance converted to a 6 month

  period ($44,000 + 2)------------------------
$  22,000
1The adjusted l965 operating cost is used because it is lower than the adjusted allowable cost converted to a l2 month period.


Second Reporting Period (l/l/67--l2/3l/67)

Facts:
Adjusted allowable cost for l967-----------
$l,l50,000
Adjusted operating cost for l965-----------
l,000,000
Percent for determining the allowance-----
5%
Straight-line depreciation on assets acquired

  after l965-------------------------------------
$   20,000
Estimated depreciation on $7,000 rental of depreciable type assets used in l967---------
4,000
Estimated depreciation on depreciable assets rented on which annual rental of $5,000 is paid----
3,000
Computation:

Gross Optional Allowance

5% times adjusted l965 operating cost

  (5% x $l,000,000-------------------------
$   50,000

Less:  Estimated depreciation on depreciable

assets rented---------------------------
     3,000
Adjusted allowance-----------------------
$   47,000
Add:  Straight-line depreciation on post-l965

assets-----------------------------------
20,000
Estimated depreciation on depreciable 

rented assets used in l967------------
    4,000
Total------------------------------------------
$    7l,000
Less:  6% of adjusted l967 allowable operat-

ing cost--------------------------------
$   69,000
Deduction to adjusted allowance--------
$     2,000
Net allowance to be included in allowable cost:

  Adjusted allowance----------------------
$   47,000
  Less:  Deduction to adjusted allowance
    2,000
  Net allowance------------------------------
$  45,000
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l26.
CHANGE FROM OPTIONAL ALLOWANCE TO ACTUAL DEPRECIATION

A provider that elects the optional allowance for depreciation may at any time before l976 change to actual depreciation on its pre-l966 depreciable assets.  When a provider switches to actual depreciation, it can no longer elect the optional allowance.

After July l970, a provider suing the optional allowance for depreciation may change only to the straight-line method of depreciation.  Such a change may be made without intermediary approval. When a provider changes to straight-line depreciation, the depreciation accumulated to the date of change is determined in the same manner as accumulated depreciation is determined for use assets when a provider enters the program.  Upon disposition of the asset, the determination of gain or loss is made on the basis of historical cost depreciation for the actual useful life of the asset.
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